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Budget Analysts See Spending Bill
Adding to Deficit
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WASHINGTON — The nonpartisan Budget Office said on
Thursday that President Biden s climate change and social
policy package would increase the federal budget deficit by $160 billion
over the next 10 years.

That determination was with Mr. Biden's pledge to fully pay for
the $1.85 trillion legislation but was unlikely to stop House Democrats
from approving the bill. gt} w4

The budget office s analysis found that the bill' s Al=7H and
spending programs were almost — but not entirely — offset by new

and spending cuts. A7 The package would be largely
paid for with tax increases on high earners and corporations, which were
estimated to bring in nearly $1.5 trillion over 10 years. Savings in
government spending on prescription drugs were estimated to bring in

another $260 billion.

The fact that the bill could slightly add to the federal deficit over the next

10 years was unlikely to House lawmakers from proceeding to
vote for the bill, in part because the analysis to a
over a single line item: how much the would

collect by cracking down on people and companies that dodge large tax
bills.



The budget office predicted that the total impact on the federal deficit
from the bill would be $367 billion over 10 years. But that estimate did
not include the $207 billion in additional revenues the office estimates the

. would ultimately collect from tax cheats. Those revenues would
shrink the projected deficit to $160 billion over 10 years.

The estimated money raised from I.R.S. funding was far less than the
$400 billion the White House estimated it would bring in over a decade,

both through actions and by essentially scaring nto
paying what they owe.

White House officials have for weeks been lawmakers for the
prospect of a disappointing result from the budget office, arguing that it
was using out-of-date models in some cases.
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